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1. Rigveda contains

(A) Rituals to be adopted by people 1. exsfigio 2O oy oo

(B) Hymns in honour of the Gods (A) Bese ©5008oRBOBI JOT,T°e
(C) Yagnas to be performed (B) dxgoks 9dod Fzreo
(D) History of the Vedic period (C) J500uHe0S alberen
2. In the Vedic period ‘Goghna’ referred to (D) Sasoomed 20
(A) One who gifts cattle 2. D500 3 sy OR) BOAHD0S ?
(B) One who slaughters cattle (A) SE505 T50 BBH T
(C) A guest (B) 90 SO
(D) The bridegroom (©) 26
3. What is the correct chronological order in (D) %580¢0
which the following appeared ?
1) Yajnavalkya Smriti 3. Cod T3 SPOERTY @ oboc
2) Manu Smriti 1) alrgeen), s ®
3) Brihspati Smriti 2) S50 D
4) Devala Smriti _ 3) eyt 2@
The correc.t chronological sequence of 4) Eso 508
th?e1t62X tilse, (B) 2,1,3,4 RO ERIRER
(C) 2,3,1,4 (D) 4,1,3,2 (A)1,2,4,3 (B) 2,1,3,4
(C) 2,3,1,4 (D) 4,1,3,2
4. The earliest Rock-cut caves in Western
India are those at 4. 53550 grEE0E08° THE° 2088 EO e &)
(A) Nasik, Ellora and Ajantha rogo
(B) Junnar, Kalyan and Pitlakhora (A) T2, X0, wesome
(C) Ajantha, Bhaja and Kondane (B) exonyb, smseh, D¥F°Tr
(D) Bhaja, Pitlakhora and Kondane (C) evesom, ger, Socs
5. Buddha’s preachings were mainly in (D) zrez, 2’355%0’ Socs

regard to

(A) belief God 5. 206509 S Soogyor AN &@%obao&v’ow ?
eller iIn one GO

%)
A) Do ey
(B) practice of rituals EB; mjobgoeb@;sm
(C) Purity of th9ught and conduct (C) 5o es6'ss, BEREs
(D) idol worship (D) TS

]ul o 3 A-13-03




6. In the Later Vedic Pantheon was the order
of Gods in accordance with their

importance
A. Indra B. Vishnu
C. Prajapathi D. Rudra
(A) CDBA (B) CBDA
(C)BCDA (D) BACD

7. Put in ascending chronological order of
construction of the following :
A. Mogalarajapuram Caves,
Vijayawada
B. Thousand Pillar Temple,
Hanumakonda
C. Bairavakonda Caves, Bhairavakona

Dhraksha Ramesvara Temple,
Dhraksharamam

(A) ADCB (B) BCDA
(C) CDAB (D) DACB

O

8. Given below are two statements, one is
labelled as Assertion (A) and the other.is
labelled as Reason (R)

Assertion (A) : Buddhist Monasteries
were attacked by many
foreigners who invaded
India.

The Monasteries were

used by the indigenous

rulers as centres of
resistance.
(A) Both A and R are true and R is the
correct explanation of A

(B) A and R are true, but R is not the
correct explanation of A

(C) Aistrue but ‘R’ is false

(D) Ais false but ‘R’ is true

Reason (R) :

6. S0 SP0od’ BITIEIS” T PoRg

&SRO °8 DI (8300

A. 308 B. %

C. ©erdd D. &

(A) CDBA (B) CBDA
(C)BCDA (D) BACD

7. 8ob 550 5 7er SOERT) Food
A. 200508 Tresd B0 e, Desaiieds
B. Q000830870 ¢, 5008 0
C. BETOE K80, HOIES
D. (05 TP e300500, ([75PT00
(AyADCB (B) BCDA
(C)CDAB (D) DACB

8. &0 T, e Toth Deend’ 2,563 DB 50
(A) Docess soeerso (R)
5y o (A) 1 gL 3 OGS JBB0RND
£E SORTTRTO TG Rh
Serdirse (R) 1 D3k JrosHen
DORIPTCRTDRD TIPCEIO0
SN slen LT
DABTACTE
(A) ‘A’ ‘R'Bocr w0 @and ‘R’ ‘A’ oo,
&389@3326 M)nletar!
(B) A 208010 R 77050 @wond ‘R ‘A’ 8
PNBRI J5CE T
(C) ‘A’ %50 wood ‘R’ 85y
(D) ‘A’ 3y e ‘R’ T%50

o

A-13-03




9.

10.

11.

12.

Match (Listl (Vedangas) with Listll) Their
Subjects and select the correct answer
using the codes given below lists.

List| List Il
(Vedangas) (Their Subjects)
A. Shiksha (1) Etymology
B. Kalpa (2) Astrology
C. Nirukta (3) Metres
D. Chhandas (4) Phonetics
(5) Ritual
Codes :
A B C D
(A) 4 1 2 3
(B) 3 5 1 4
(C) 4 5 1 3
(D) 3 1 2 4

Match List - | with List - Il and select the
correct answer from the codes given below

List| List 1l
(Schools of (Exponent)
Philosophy)

A. Samkhya (1) Kapila
B. Yoga (2) Patanjali
C. Nyaya (3) Gautama
D. Vaisheshika  (4) Kanada
Codes :
A B C D
(A) 1 2 4 3
(B) 3 2 1 4
(C) 3 1 2 4
(D) 1 2 3 4

Name the ruler who founded the University
of Vikramasila

(A) Gopala
(C) Devapala

(B) Dharmapala
(D) Mahipala

The Jain Temple in Mount-Abu was built
by

9.

10.

11.

235 | (Rrrorreiio) 5e3S I (E° Adeires) Eocs
VDoAY Doiores PBIS WTWOOD
S DoBos.

NSE RNSEY |
(Rzrerren) (NHgsTe)
A. 35 (1) deddree
B. oy @) @@;@&
C. 0y (3) wexdy
D. 50530y (4) P,

(5) Segd
Hodores
A B C D
(A) 4 1 2 3
(B) 3 5 1 4
(C) 4 5 1 3
(D) 3 1 2 4

30351 (dzrorreiio) 5e3S 1 (E° Adeires) Eods
DPD0VS Do PBIS WTWOOD

QOOWOC.
S5 Sesl
(o ngw) (?oc;;oéé@’aﬁ%&eo)
A. o (1) &%
B. arx (2) H0e®
C. T (8) Arewo
D. 232 (4) s
S
A B C D
(A) 1 2 4 3
(B) 3 2 1 4
(C) 3 1 2 4
(D) 1 2 3 4
D(E203 @%035)@56013 @(;’?.5§JC§J
(A) o (B) &gere
(C) Oxare (D) Sodraro

12. 53705 09208%) £ 00 AGoD08

o

(A) Chandellas  (B) Solankis (A) Sobges (B) Foosses
(C) Palas (D) Chauhans (C) FroTresen (D) T5co00
A-13-03




13. The following Chinese traveller visited | 13. wd@éw%éoé%oﬁ)b@woﬁ@ém

India 1. ae?@oﬁ

1. Itsing 2. oS

2. Fa-hien . 3. ooh ;5"5"553‘0
3. Wang-Hien Tse . coF
4. Hieun Tsang 4. FTAbomo

The correct chronological order of their BERIERI0E 0 O30 Doy

visit (A) 2,4,1,3 (B) 4,2,3,1

(A) 2,4,1,3 (B) 4,2,3,1 C) 4,2,1,3 (D) 2,4,3,1

C) 4,2,1,3 (D) 2,4,3,1

14, BI0% 385 Teord T 507610 Teeioso axsos
14. Among the four dynasties listed below ot S0B0I6
which one minted coins made of lead
1. Mauryas g
2. Satavahanas 2. TRy
3. Western Kshatrapas 3. 2B FEDeo
4. Guptas 4. Koo
Choose the correct answer from the codes PPBR 2e0idd $08 087 DT ook
given below : RS0
(A) 1and2 (B) 1,2and 4 (A) 15000502  (B) 1, 25005 4
(C) 2,3and4 (D) 3and 4 (C) 2,330 4 (D) 3 508050 4
15. Given below are two statements, one is 15, 705 555 s Bocs Y55 1.3 Dt
labelled as Assertion (A) and the other is ; OGO © 8% & )SS50

labelled as Reason (R) (A) Socb sedeagirso (R)

Assertion (A) : Society became AnoTEe (A) 1 Moo wSoBTo JBITeo
increasingly agrarian NISES ROV} SIAB&) Sew
during the Post-Gupta B5955508
period. - .

Sesdirde (R) 1 D85,5°00 S Soeo gy
Reason (R) : Small peasgnts could not o 25 ZP0 5058 865
claim any rights to land. . . = -
(A). If both ‘A’ and ‘R’ are true and ‘R’ is (A) A’ Sobato R Bodir sigso o ‘R
the correct explanation of A A’ Q08), BID ARCED
(B) If A and R are true, but R is not the (B) A 08010 R 77050 wond ‘R ‘A’ 8
correct explanation of ‘A’ PBAD AHTe? 5°C0
(C) If Ais true but ‘R’ is false (C) ‘A’ 55550 eood ‘R’ &9y
(D) If Ais false but ‘R’ is true (D) ‘A’ &5y @008 ‘R’ 59550
o A-13-03




16. ‘Velakulakarna’ of the Chalukyas of
Gujarat was a
(A) Dept. of Finance
(B) Dept. Harbours
(C) Dept. of Agriculture
(D) Dept. of Temples

17. Who among the four is listed under
Righteous Caliphs ?

(A) Harun Rasheed
(B) Caliph Mutassim
(C) Hazarat Umar
(D) Abdul Wahab

18. Warrangal was brought under the direct
rule of Delhi by

(A) Malikkafur

(B) Alla-uddin Khilji

(C) Mohammed Bin Tughlaq
(D) Feroz Shah Tughlaq

19. The Reference of Sultan Shamshuddin by

Barani is to
(A) llitamish (B) Alla-uddin_ Khilji
(C) Babur (D) Balban

20. Which of the following is not located in
Qutb enclave ?

(A) Qutb Minar

(B) Alai-Darwaza

(C) Balban’s tomb

(D) Quwwat-ul-Islam mosque

21. The most vivid account about the
destruction of the city of Vijayanagar was
given by

(A) Robert Sewell

(B) Father Heras

(C) N. Venkata Ramanayya
(D) Krishna Swamy Ayyangar

16.

17.

18.

19.

20.

21,

P0BTSE T SO0 DO 8’ e
(A) eo57p
(B) S0z
(C) sSgsran 7w
(D) esootre 55§
803 B5RCES He0H5 POT S’ ¢80 T ?
(A) 56325 506
(B) 283 5203055
(C) e85 506
(D) e0d o5l
SC0NR GO 158 Treis oS SRS Oy T
(A) S8 £5°6
(B) weebs 9
(C)_20550,68S gons
(D) E'eFr sons

B) weréds g;")@
D) erend

8500 @Fronernd” 8§60 28 ?
(A) 8025 Qb
(B) wdorer
(C) ereyS 5576
(D) 03555 - & - IS0 B0

DBALDNE EIGOTR) 2ITRIROPONT®
D0V 2

(A) Toeb &S

(B) 6 27oS

(C) o8, Dosexsmoeobs
(D) x5 eagored

o
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22.

23.

24,

25.

26.

Mohammed Gawan died because
(A) He was old

(B) He wasiill

(C) He was injured in the battlefield
(D) He was killed by ‘Daccani party’

The ‘Khutba’ is
(A) Formal sermon during
congregational Friday prayer
(B) Lectures of Khatibs
(C) Prayer meetings
(D) Worship by Muslims

Who murdered Abul Fazal, the official
historian of Akbar ?

(A) Mirza Ghiyaz Baig
(B) Bir Singh Bundela
(C) Raja Todarmal

(D) Raja Bhagavandas

The port town where Shivaji stationed his
naval fleet was

(A) Kalyani
(C) Salsette

(B) Kolaba
(D) Bassein

Given below are two statements one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : Balban  could not
increase the numerical
strength of Army like
Alla-uddin Khilji.

He appointed only

Turkish people to army,

so, many were not

available for recruitment.

(A) Both ‘A’ and ‘R’ are true and ‘R’ is
the correct explanation of ‘A’

(B) Both ‘A’ and ‘R’ are true but ‘R’ is not
the correct explanation of ‘A’

(C) ‘A’ is right and ‘R’ is wrong

(D) ‘A’ and ‘R’ are wrong

Reason (R) :

22.

23.

24,

25.

26.

02500 A BAPHTS S°TE0
(A) Dyaridgo S

(B) @3"58(‘150 NS

(C) cxoggos® mabingo Ho

(D) ¢589,Dey0050 D Hodeaso

‘gpoa‘;y 9SM°
(A) DETT0 T3 TRITIE TGRS
(B) 792l @domen
(C) Prgor darImren
(D) Soog00 @63
SEISRCTAE: EieRatelussgettaty 022008 5523530
2P DO ?
(A) Qe 30575 2R
(B) 85 20h exxodier
(C) oo &cE208
(D)

D) orer eyaramE

Tl 83 T'S° erd) AT7EN Wi B Deeso
(A) Sorgel (B) Sorer
(C) a3 (D) &5
B0 06752060 Bock CEE’ 2803 DBH T
(A) DoEsd Sesgeo (R).
DTS (A): wradsS HY 58 ereyS &I
FNPLS K)ogm?s 2°)) WO
SEFarreio
oeagirdo (R) 1 @i 068 Botoiy,oi
SR DEECE0 D9 )0
5008 @90eSerenE” B

(A) ‘A’%08000 ‘R’ Bocir om0 eod ‘R’
‘A o), B0 DITED

(B) A %0803 R Bocosr ko eownd ‘R’
‘A3 DB J5TE T

(C) ‘A’ =550 ‘R’ 85y

(D) ‘A’ 508ax» ‘R @3y

o
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27.

28.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R)

Assertion (A) : The third battle of Panipat
decided conclusively as
to who was to rule India.

The defeat of Maratas in

3 Panipat battle was a

major blow to their dream

of establishing ‘Hindu

Pad Padshahi’.

(A) Both ‘A’ and ‘R’ are true and ‘R’ is
the correct explanation of ‘A’

(B) Both ‘A’ and ‘R’ are true but ‘R’ is not
the correct explanation of ‘A’

(C) ‘Ais true and ‘R’ is false

(D) ‘A’ is false and ‘R’ is true

Reason (R) :

Given below are two statements. One
labelled as Assertion (A) and the other
labelled as Reason (R)

Assertion (A) : Ibrahim Lodi was the last
ruler of the Delhi
Sultanate.

Babur ended the rule of

Delhi Sultanate by

appointing Sikandar Lodli

on Delhi throne.

(A) Both ‘A’ and ‘R’ are true and ‘R’ is
the correct explanation of ‘A’

(B) Both ‘A’ and ‘R’ are true but ‘R’ is not
the correct explanation of ‘A’

(C) ‘A’ and ‘R’ are false

(D) ‘A’ is right and ‘R’ is false

Reason (R) :

27.

28.

B0 28BS A90eE” 2563 DB)BTE50 (A)
VoENd S0 (R)

QnTTEe (A) 1 SorEs TNy Ago
TEBDT R IF 0TS

é’)goaooi)o&

S0TPBOX00 SoTED. T

QY0E 86920 ROET DS

FEAET L0 A ey

(A) ‘A’ 08000 ‘R’ Docsr Tdo wond ‘R’
‘A’ B0, B A5SED

oesgirse (R) :

(B) A %5803 R Bocosr oo eownd ‘R’
A8 B0 ADCE T

(C) ‘A =0 ‘R &y

(D) ‘A’ &5 ‘R oo

I 267 20 DN 2,53 DByB 550 (A)
Vo Seerdo (R)

QRqysso (A) c{%@ Boer0es® 3Elrod’S
DB T
oS0 (R): 2¥0s88'ESE ¢ Houthno

§BEo S9 wrab ¢
RoerRoe TrosE B85 Ao
TS0

(A) ‘A 2000 ‘R Bocosr awsso ‘RA’
oo, 53 dTe

(B) A %0803 R Bocosr oo eond ‘R’
‘A %), 505 9Ted T

(C) ‘A’ 558050 ‘R’ Docos &y

(D) ‘A’ 5058 ‘R @y

o
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29. Maich the following from List | with List Il

30.

List | Listll

A. Dagh (1) Kissing Sultans
feet

B. Chahra (2) Branding of
horses

C. Paibos (3) Prostration
infront of Sultan

D. Nauroji (4) Persian new
year

E. Sijada (5) Descriptive role
of a Soldier

Select the answer from the codes given
below :

A B C D E
A 2 5 3 4 A
B 2 5 1 4 3
C) 1 2 5 3 4
o) 5 1 2 3 4

Match the following Mughal Emperors with
the location of their Musoleums.

List| List 1l
(Emperor) (Place of Musoleum)
A. Balban (1) Agra
B. Humayun (2) Lahore
C. Akbar (3) Sikandra
D. Jahangir (4) Delhi
E. Shaha Jahan (5) Kabul

Select the answer from the codes given
below :

29. 263518 w0708 0635 11 & Bsetonms

RIS NSER |

A. oh (1) DoorsS Forodo
QOTTEEIE

B. ©& (2) Megop SoEed

C. 2% (3) QoS e
B ON3CEe0

D. 6% (4) 500 S
QOO

E. des (5). RIS D5Se3

EoB HOETORIOE O e Yoo
A B C D E

A 2. 5 3 4 A
B) .2 5 1 4 3
©C) 1 2 5 3 4
D) 5 1 2 3 4

30. o050 IEIX VST %S (@FroTred’

23090800

x| sl
(oreen) (rozre)
A. erend (1) esee
B. S05500s (2) =56
C. %6 (3) (o§o@5
D. 2570Rb (4) &
E. JressstS (5) 3123?6

S0 HOET® 5006 $TE 5eadd MOV
A B C D E

o

AL B C D E (A) 3 1 4 5 2
Ay 3 1 4 5 2 B) 4 2 5 1 3
B 4 2 5 1 3 (C) 5 1 2 3 4
(C) 5 1 2 3 4 D) 5 4 3 5 ]
(D) 5 4 3 2 1
10 A-13-03




31. Maitch the following
List |

A. Siladar

B. Bargi

C. Panch hazari

D. Paik

E. Naik

Listll

(1) Second highest
military rank
(2) Lowest military
rank
(3) Second lowest
military rank
(4) Cavalryman
having his own
horse and
equipment
Cavalryman
provided with
horses and
equipment by

State

Select the answer from the codes given

31. 26381 & 730 06351 & epdotionion

RNSEY |
(1) Bocss B pAS
e
(2) B85 P05 F
(3), Bocss B,
208 o
(4) Fro® TN
7e90 S eEsE G5¥o
(5) Trasgow ego,
TR0 YIICHR

€9 C3F0

C08 HOET® $00Ch eI MHBoTHN :

below :

AL B C D E

AL B C D E
w 4 5 1 2 3

@w. 4 5 1 2 3
® 2 4 1 3 5

® 2 4 1 3 5
C 4 5 2 3 1 © 4 5 2 3 1
@ 1 2 3 4 5 ® 1 2 3 4 5
11 A-13-03
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32. Maitch the following :

List | Listll
(Maratas) (Shivaiji’s relation)
A. Lakhji Jadhav =~ — Father

Rao
B. Maloji Bhonsle — Maternal Uncle
C. Shahji Bhonsle — Grand Father
D. Jijia Bai — Mother
E. Tara Bai — Daughter in-law

Which of the above are correctly matched ?

Select the answer from the codes given

below :
(A) Aand B (B) Cand D
(C) Dand E (D) Band E

33. Which of the following Revenue system

were Akbar’s own innovations ?
(i
(ii

) Batai or Galla Baksh
)
(iii) Nashq
)
)

Kancut

(iv) Zabti

(v) Dahsala
Select the answer from the codes given

below :

(A) (i) and (iv)
(C) (iii) and (iv)

(B) (ii) and (v)
(D) (iv) and (v)

32, 06351 & 730 03511 & esidcsotionion

293 1 23 I
(RoTrEoen) (3 wogo)
A ofwssoly (1) Bod
B. 558% 0% (2) Dodpss
C. s %% (3) &
D. egosreran- - (4)189
E. oooeron (5) Sen

2 TE3E D DB eDSD oo A8od Te3E°
KB5S 2000 E50f0500
(A) Aot B (B) CoBato D

(C) Dsoda E (D) B b E

33. 00T e\ FOBOT HFEFS TRETS 5G5S
(i) 2erad 8% Ker ef
(i) Zox5
(i) &%
(iv) ez
(V) &Srer
S0¢s HORHT°® B00Ck [ et oo
(A) (i) so8ax0 (iv)  (B) (ii) 508050 (V)

(C) (i) 2803 (iv) (D) (iv) Zo80%5 (V)

o
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34. Who among the following belonged to the
Sur dynasty
(i) Sher Shah
(ii
(iii

(iv

) Ismail Shah

) Bahadur Shah
) Ali Adil Shah
(v) Sikandar Shah

(vi) Mohammed Adil Shah
Select the answer from the codes given
below :

(A) (i) (ii) (iii) (v)
(C) (ii) (iii) (iv) (v)

(B) (i) (ii) (v) (vi)
(D) (i) (i) (iv) (vi)

35. Arrange the following Bhakti saints of
North India in order

(i) Chaitanya
(i) Guru Nanak
(iii) Kabir
(iv) Dadu Dayal
(v) Mirabai
Choose the answers from the codes given
below :

(A) (i) (i) (v) (iv) (i
(B) (i) (i) (ii) (v)(iv
(C) (i) (iv) (i) (v) (i
(D) (iv) i) (i)(v) (ii

36. Who among the Sikh Guru helped the
Mughal rebel Prince Khurram ?

(A) Tej Bahaddur

(B) Arjun Dev

(C) Har Govind

(D) Guru Govind Singh

= =

34. 52300 70 08 $507°IS DoAS TVHSE ?
(i) 5

(Vi) 20500 b

E08 HOSHTORI0G KB 83070 TOOOWKD
(A) (1) (i) (i) (v). . (B).1) (ii) (v) (vi)
(C) (i) (iii) (iv) (v) -+ (D) (i) (ii) (iv) (vi)

35. &80 USRS DoOD B8 eHoS Ry
BEDDER0E B8 B0k
(i) D5
(i) Mosmss
(iii) 5
(iv) e Sosrd
(V) ooeerad
80¢S DOSTPOR00G 0D mPe SSoR0HD :
(A) (iii) (i) (v) (iv) (i)
(B) (iii) (i) (ii) (v) (iv)
(C) (i) (iv) (i) (v) (ii)
(D) (iv) (iii) (i) (v) (i)

36. J00000 AOLF TR PO DTNV
OTBANCD ?o§ab (OB DD 2
(A) B aeesrd

o
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Read the following passage carefully and
choose the correct answer of the questions that
follow (Q. 37 to 40) :

The decline of the early Andhra economy began
from the time of the Later Satavahanas,
particularly from the time of Vasishthiputra
Pulumavi, when the Satavahanas lost control
over the western Deccan ports. As a result, the
flow of merchandise from the east to the west
began to slow down. Consequent to the decline
of internal trade and revenue, the successors of
the Satavahanas were forced to concentrate and
for State power. So the economy was ruralized
and the pressure on land multiplied. The fact is
corroborated by the non-availability of evidence
about a flourishing industry in the excavations
of Nagarjunakonda or its neighbourhood.
Realizing the necessary of promoting
agriculture, Vasishtiputra Sri Chantamula
donated several hundreds of thousands of
ploughs, cattle and gold. Sri Chantamula, or his
successors, also took measures to tackle the
water problem. In the Nagarjunakonda
excavations, at sites 42 and 66, several bunds
to control rain water for irrigation purposes have
come to light. It had rubble-built ramps on both
sides along the foot of the Phiragimotu Hill and
must have been excavated during the Ikshavaku
times. One of the early Pallava rulers had the
title of Kaduvetti, viz., clearer of forests, which
impulies that he tried to bring new areas under
plough cultivation.

37. The decline of the Satavahana economy
set in from the period of

(A) Gautamiputra Satakarni
(B) Hala

(C) Vashishtiputra Pulumavi
(D) Yajnasri Satakarni

308 JoErmdy $69 37 S00d 40 D50 Ko EHED
QRO YOS,

©0¥ D538° HBH0 BVFTEHe S0 BN
TR HOST 500’ 2oEPod. eedd s
5.0505)® DO BSBTTTE00 @O0 SFo08. o)
DEGSTBOM BIGY) 5000 SHITVE DO, TTET
BootshoNod. B30 Toedeso, eTPoko XS etel )
BT BESTPA0 A6 CH VLY EHBEd. T
2913 550 68 BB, (e STTRE0; TS0
QBSOS 30> DODGHONEN0R. o0 059
(PAEINE0 ©02008, TP A edd wORCR. &3
D3O TTLRHE 0L, €3 BOKC o’ 20 Bgseos”
DOFDL0 D) IOCBP Py TR Lo
TEPDCEONY ((OSRCE0R (507,56 1986). dgSraiedy
$)DBCBHOLS WIRT D OGN TRRHE Brossare
OFT8 Ty, W, OTTRY TR0 DT (5D
2r0eagEed ATBENR Sro FH0IR Be0or) (g XX
TS0 THK0 0. 182). Bmrosharerts Bl
TERR0 Ded B0y DO, TS BTLd FRZTH.
TIRRETOC Be0 42, 66 TSTE. $5EY Ded 0
BAramre §590 Job W e $0 eX0ihedrza.
25503 (00 19 J) Deden9.14 265y, 1.82 Joexdy
&0, 8.5 88" Qoeoth A s W, 90,5,

£). 0. 6. o (1966 : 24) BTN, T Bockd
Koo MooSTE Erdd Qmre aPRo8 é&mmom.
POOARTEIET O FEDE0 TED 7T 908, B FF 500
008" B0, FOTI S0sTerd’ 2508 ‘TR,
@063 PO AETDoUTED s éod. THEE TG
ST SRoNTHE0 P8 ot NRBER &od
(Srosoosory 1995 : 45)

37. TR0 Qs SERZ050 D0 00 B0
38085008 ?

o
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38. Decline of internal trade led to the | 38. 3%01)5"8323§§Jé2605CSoKeaa@Qéwééfoo@?
development of (A) 50500
(A) Industry (B) Agriculture (B) sg5raro
(C) Arts and Crafts (D) Fisheries (C) Ssieo Sod0ho 0o
39. For what purpose Vashishtiputra (D) 2o goouEo
Sri Chantamula distributed hundreds of oo
ploughs, cattle and gold ? 39. TR @s“oémj"@ Nlela ) éoaageﬁs T,
’ _ 5290 S50BOH) 2I0MPE0 IO Poed
(A) to promote agriculture o
00 ?
(B) to promote animal husbandry A . 3
PNV PUA OV oL Z)c‘b Qs
(C) to promote Goldsmiths ) 5 i‘b =
B) $%0Pden wooes3
(D) as a popular State policy (B) “o5e
(C) 58500 PEe
40. The title ‘Kaduvetti’ in Tamil means (D) (Sesrescses £50
(A) cleaner of forests
(B) builder of tanks 40. ©20%08" S aed Wit
(C) plough cultivator (A) ooy 58 hoke
(D) destroyer of forests (B) 280 Jo®
(C) O Scsrao
41. Consider the following events in b is A s
chronological order D) e SRE TR >
1. Police action in Hyderabad 41, o5 28,8y B0 B EHT) BOySd
2. Liberation of Goa 1. ipesorabs® s 55
3. Demise —of —Shyamaprasad 2. fir 95003
Mukherjee in Srinagar 3 @:@K&Sf’a%o@ﬁ@c% mgpé <5650
4. Kashmir's accession to India
4. o558 55 o
The correct chronological sequence of
s i Sod HOSHTOK0G B 230700 MHOOYK0.
A 1 4 3 5 A 1 4 3 2
B 1 4 2 3 ® 1+ 4 2 3
© 4 1 2 3 © 4 1 2 3
® 4 1 3 2 ® 4 1 3 2
o 15 A-13-03




42. Match List I with List Il for choosing the

answer
A. Govt. ofIndia (1) Dyarchy in
Act, 1919 provinces

B. Govt.of India  (2) Provincial
Act, 1935 Autonomy

C. Minto - Morley
Reforms, 1909

(3) Legislative
Councils
for provinces

D. Indian Councils (4) Introduction of

Act, 1861 communal
electorate
A B C D
A 2 1 4 3
(B) 1 3 2 4
(C) 1 4 3 2
(D) 1 2 4 3

43. Match the following and select the correct

code
A. Chhaman Atha (1) Sarat Chandra
Guntha Chttopadhyay
B. Karambhumi- . (2) Tarashankar
Bandhopadhyay
C. Bipradas (3) Fakir Mohan
Senapati

D. Ganadevata (4) Premchand
A) A-4,B-3,C-1,D-2
B) A-3,B-4,C-1,D-2
C)A-2,B-4,C-1,D-3

(
(
(
(D) A-3,B-1,C-4,D-2

)
)
)
)

42, 563518 2635 1 50 w8000

A. 19195¢0 (1) c508 ©edHs
D0
B. 1935%¢0 (2) E om0
055G
C. 0e3r? (3) T $ey TRy
Lo, 800 1909

D. 1861305560 . (4), 50855 .60 575,

(BaEa0eed
A B C D
(A 2 1 4 3
B) 1 3 2 4
cy 1 4 3 2
D) 1 2 4 3

43. 38033 %63 23HH00) 2320080 MOB0WOG

A. 5508 e o (1) 358 Dol

REEmNeV
B. s5g5 (2) oorosh

20E IGAD
C. TR (3) $&E6375eS Do
D. Keatosd (4) (2So%08

(A) A-4,B-3,C-1,D-2
(B) A-3,B-4,C-1,D-2
(C) A-2,B-4,C-1,D-3
(D) A-3,B-1,C-4,D-2

o 16
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44. Match the following and choose the correct | 44. ¢35 1 2 29¢35 Il 82 Do’ Sois $rDoDD

from the codes below : RoSToS PUNBAD TR JDoNodk
List| List Il 2351 2251l
A. Satara (1) 1850 A. oo (1) 1850
B. Sambhalpur  (2) 1848 B. Sogy&yrd (2) 1848
C. Jaipur (3) 1853 C. &6 (3) 1853
D. Jhansi (4) 1849 D. Cqu‘%%‘Q (4) 1849
Codes : Sodoren :
A B C D A B C D
A) 1 2 4 3 A) 1 2. 4 3
B 2 4 3 1 B) 2 4 3 1
Cc 2 1 4 3 C) 2 1 4 3
o)y 4 3 1 2 @) 4 3 1 2

45. Match the following and choose the correct | 45. ¢35 | 2 29¢35 Il 82 Do’ Sois w0

from the codes below RSO PUNBAD TRk JrDoNod
List| Listll 5951 BN
A. James Outram (1) Delhi A. B3 TS (1) &d
B. John Nicholson (2) Lucknow B. 25 35S (2) oy
C. Colin Campbell (3) Jhansi C. 05 52058 (3) ST
D. Hugh Rose (4) Kanpur D. A& (4) ==5omb
Codes : Sodoren
A B C D A B C D
A 1 2 3 4 A 1 2 3 4
B 2 1 4 3 B 2 1 4 3
€ 2 1 3 4 Cc) 2 1 3 4
(D) 1 2 4 3 (D) 1 2 4 3

]uln 17 A-13-03




46. Match thefollowing and choose the correct

from the codes below :

46.

238 1 50 5635 11 £ Ddpires Sois HDoD
DodTred’ PINBIROR LT SPVOHOG

Listl Listll 351 pISEY |
A. Jute (1) Bombay A. oseS (1) erodd
B. Cotton (2) Serampore B. ¥ (2) Soroyd
C. Coal Industry  (3) Mad_ras | C. &7y 50 (3) SooS
D. CementIndustry (4) Ranigan; D. 53006535050 (4) oo
Codes : B -
A B C D A B C D
(A) ! 2 3 4 (A) 1 2 3 4
(B) 8 4 ! 2 (B) 3 4 1 2
©) 2 ! 4 8 ©) 2 1 4 3
(D) 4 1 2 3 (D) 4 1 2 3
47. Give the correct chronological order 5
47. 38000 DEORVEDT @5"&260&
A. Communal Award AQ_ P
B. Simoon Commission ' SO GG
C. First Round Table Conference B. 155 8053
D. Gandhi-Irwin Pact C. B0x¢5e] Toks Emod 8E0
(A) A,B,C,D (B) B,C, A, D D. mrod - 3055 exdyocso
(C) C,B,A, D (D) D, B, A, C (A) A,B,C,D (B) B,C,A,D
(C) C,B,A,D (D) D,B,A,C
48. Match List | with List Il for choosing the
answer 48. 563518 B35 I 5o sidson0
Listl Listll R PISER |
(Period) (Revenue (o) (G 2038350¢5)
Settlement) A. 1833 (1) Q@Sé
B. 1793 (2) Mahalwari C. 1792 (3) exnomd
C. 1792 (8) Zamindari D. 1769 (4) sosss
D. 1769 (4) Quinquennial ' B s
(5) Decennial ®) >
A B C D A B C D
A 1 2 3 4
(A) 1 2 3 4 EB; 2 3 1 4
B) 2 3 1 4 ©) 2 5 . .
(C) 2 3 5 4 D) 3 5 ] 5
(D) 3 2 1 5
18 A-13-03
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49.

50.

South India fell under the political control
of the East India Company in

(A) 1760 (B) 1790

(C) 1780 (D) 1770

The first Muslim President of the INC was
(A) Ajmal Khan

(B) Rahimulla Sayani

(C) M.A. Jinnah

(D) Khan Abdul Gafar Khan

49.

50.

SIS OGN DG o0 e9f508°S 58 8750

D ¥09EYTSE* SNod ?
(A) 1760 (B) 1790
(C) 1780 (D) 1770

PO eSO STPofe S B30R0 e
A) @w&eiemﬁ

B) &&kaoee Haed

C) 2o od gy
)

(
(
(
(D) oS esend NrberS

51. Thg pla}y ‘Neel [?arpan’ is inspired by the 51. 99 S0 el D 50t SO B Botndod ?
cultivation of which crop ? A) 55 (B; o
(A) Cotton (B) Indigo =
(C) Tea (D) Opium (C) dars (D) Semoosd
52. Which of the following Acts gave | 92 2 SR 5go &rodame 5 vag §00
representation to Indians for the first time 8050 S0000 2
in the Legislature ? (A). 1909 595 t¢g0
(A) Indian Council Act, 1909 (B) 191959 w0
(B) Indian Council Act, 1919 (C) 19352758 Habes0 P90
(C) Govt. of India Act, 1935 (D) 539 ¢
(D) None of the above
53. J5oerdoo erdol Jros PEDe DITRE0 D
53. The first All-India Depressed Classes 058508 w2BR0R ?
Conference was held in (A) 955 1913
AR
(C) Jur?e 1916 (C) e 1916
(D) March 1918 (D) 58y 1918
54. In which year Majlis-I-Malguzari was | 34 T°0@0f 58 Bagh - 3 - 5rdiowd O
created by Salar Jung ? SosE o8 Fotntio ?
(A) 1863 (B) 1864 (A) 1863 (B) 1864
(C) 1865 (D) 1866 (C) 1865 (D) 1866
55. Mahatma Gandhi visited Hyderabad 55. oy ok ererdS $85elolis Songso
(A) 9" March 1933 (B) 9" March 1934 (A) 500)9,1933  (B) 550 9,1934
(C) 9" March 1935 (D) 9™ March 1936 (C) 508y9,1935 (D) 5799, 1936
o A-13-03




56. Who was not a delegate to the Round | 56. 300708 0otiSE’ 28R Tof e 555703
Table Conference in London ? BB T30 5°0 3°C0
(A) V.S. Srinivasa Sastri (A) 2.3. TR Ty
(B) Tej Bahadur Sapru (B) @efexsesrd Sy
(C) MUkL.JPd Rama Rao .Jayakar (C) 5005208 T5rTr) e2ahh
(D) C. Vijiaraghavachariar (D) 5. DesaTsind BOTE
57. Tr;\e Red Shirts Mofvement airged at ; 57. 3E é@g’ 5 0550
creation of an independent
) Pakhtoonistan P (A) R0y DDHISBO T DOHEEO
(B) the formation of Pakistan (B) 2335 domyeas
(C) trade union activities in India (C) art80508” S°0)E HORTe S EERTeo
(D) throwing out British from India (D) e300 EtEo 2008 H0h00 DL
58. Of the following, the organisation thathas | 58. 208=¢36°D éogﬁ"oég"éé@éf@ 5063 53008507
been called a forerunner to Gandhian 557023500 S0 DGABSAT ool ?
programmes for the Harijan’s is (A) @0350@;355@@@3
(A) Theosophical Society (B) AEomE S5 2058 e q0dasr
((g; gepreige: Clahj§e§ Mission of India (C) ososyn 2558
amakrishna Mission
D) 2205 575 20
(D) Schedule Caste Federation (D) Bersosg pecse
. 2e30rerES” e85t TP DG K0S
59. In which year Arya Samaj branch was 99, FOTEOS s B
) . (A) 1890 (B) 1891
established in Hyderabad ? (©) 1892 (D) 1893
(A) 1890 (B) 1891
(C) 1892 (D) 1893 60. “wpocs erSstEo D& &5 ¥38 ET0 &
60. Who said “India has to unite and conquer P20 estofaO@i) éié%sm
the whole world once again with its might” ? (A) TSGR0
(A) Ramakrishna Paramahamsa (B) ©r5do oo
(B) Swamy Dayananda (C) I Jds=is0cs
(C) Swami Vivekananda (D) e5:5berd D5
(D) Jawaharlal Nehru
61. 5sEE Sireso’ o TRODTT®H
61. Satya Shodhak Samaj was founded by (A) . B, ewoiien, 5
(A) B.R. Ambedkar B) £ &er s
o 578
(B) Jyotiba Phule B) s v
(C) Jagjivan Ram (C) efsod
(D) Shahuji Maharaj (D) oo Sofoed
o 20 A-13-03




62.

63.

64.

65.

66.

The first country to establish trade relations
with India was

(A) Holland
(C) Portugal

(B) France
(D) England

When did Subhash Chandra Bose resign
from the Presidentship of the Congress ?

(A) 1939
(B) 1938
(C) 1940
(D)

D) None of the above

Who was the advocate at the famous INA
trails ?

(A) Asaf Al

(B) Subhash Chandra Bose

(C) Bhulabhai Desai

(D) C. Rajagopalachari

Marathan battles were fought between
(A) Greeks and Persians

(B) Greeks and Romans

(C) Athens and Sparta

(D) Romans and Egyptians

Which of the following books is in the form
of letters ?

(A) Autobiography of Nehru
(B) Discovery of India

(C) Glimpses of World History
(D) My Experiments with Truth

62.

63.

64.

65.

66.

POBOFOE TS HOLOTTER DTTE D08y

R0cse3 Do
(A) SPook
(C) Fooy'S

(B) &%
(D) morrob

R08PRBOES 650 SO @65 3¢S T B
Q0G0
(A) 1939
(B) 1938
(C) 1940
(D) D& 3z

D8O ?

9:5% e98)

PSS ONTTR” IV ¢S5 esdmron ?
(A) Bises Ho0aks HOAD

(B) (e 5080k 835080

(C) 23S, H00aks I

(D)

D) &050 5000300 593205050

S 57508 Er5)ecs DHVTo
(A) T et BTD
(B)
(C) &

(D) 2p Ey8R00e]) IS S

x50 55 godoly

oo &R D6 aRd

o
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67. Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R)

Assertion (A) : The 1857 mutiny was
suppressed by the
British.

Except for people like the

Rani of Jhansi and

Tantya Tope, few feudal

lords participated in the

mutiny.

(A) Both A and R are true and ‘R’ is the
explanation for A

(B) Both A and R are true but ‘R’ is not
the correct explanation for ‘A’

(C) Both A and R are false
(D) Aistrue, Ris false

Reason (R) :

67. Q0D 28, Xeds Bok JNced’ 8563 DB)ETE0
(A) Bocesd oo (R)

1857 &doroeresn HeSD,
DS e9e3TDOHGOE

Q3Eo (A)

5588050 (R) 1 Sadyoe3, Erodayr &

300G §85008 bgfog’

Y P53 g (985330

SEI0eTeNE TETND

(A) ‘A’50805%0 ‘R ey gos R’ A’ 80639
DT

(B) A S0 R essyp 50 ‘R’ ‘AT & 80as
DO T

(C) ‘A" s08ams ‘R’ 8y

(D) ‘A ey ‘R &dy

68. The ‘Berlin Revolution’ in history writing | - 8. BOS IR WO 535S DDB0IDO
was brought by (A) b, & SOofE
(A) R.G. Collingwood
(B) John Seely (B) &S50
(C) J.B.Burrey (C) & &. 0
(D) Van Ranke (D) oy,

69. The theory of Biological Interpretation of | g9 ,5< 20805 VO AT PIT OISO
history was profounded by
(A) Oswald Spengler (A) &8 010
(B) Karl Marx (B) 58578y
(C) Ornand Joseph Toinbee (C) wons &0p Tt
(D) R.G. Collingwood (D) e35. 8. 5°®0ohH&

70. mr‘:aiaéio‘wlzgi, '; a mountain top of | 54 2008" BOE BPTD IH0H DI 2
(A) Carl G. Gustavson (A) 56 & TRSKS
(B) James Princep (B) &3 &S
(C) Lord Curzon (C) obs5s
(D) Cunningham (D) SnoRoES

o 22 A-13-03




71. Chengez Khan was a
(A) Turk by origin
(B) Mongol by origin
(C)
(D) Afghan by origin

Persian by origin

72. The famous book ‘The Decline and Fall

of Roman Empire’ was written by
(A) Richard Henry

(B)
(C)

(D)

Godwin
Edward Gibban
None of these

73. ‘History is a science no less and no more’.

This was spoken by
(A) John Seeley

(B) R.G. Collingwood
(C) J.B.Burrey

(D) E.H. Carr

74. The period of Church historiography was

characterised as
(A) Period of darkness in history
(B) Period of light in-history
(C) Period of religious freedom
(D) Period of rationalism

75. Renaissance in Europe began as a result

of the most important incident
(A) Fall of Roman Empire

(B) Conquest of Constantinople by Turks

(C)

(D)

Greek awakening
Indian National Movement

71.

72.

73.

74.

75.

o) &35 @008 7S &5 Fe0S Aopd’ e B DORE
5H00s
(A) 895
(B) S
(C) s Rexys
(D) D5EP 2¢O

“U0B BETH0, SO JE) D S B H T
SHESHIved

(A) oS 5

(B) esb. 2. 20chp&

(C) 2. 9. 20

(D) 3.%5.5°6

50 0P ST SO B2 Ao 87T
(A) 5088° D53 axono

(B) 5088° 57300 avoro

(C) 08 i $OA ey aboro

(D) 2e&omres aXoro

B4 @SB0PEOD HOD HOBF wfF &
RDOCSBO FrEogRod

(A) T30S FrEoreg S0

(B) éxting e S°SoedS v esEoonsHeio
(C) B0

(

)
)
)
D) &7t erdairesgioo
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